SOhUTITONS $\Rightarrow$ EXERCISE 8
1.

$$
\begin{aligned}
& \quad \log 7+\log 10 \\
& =\log (7 \cdot 10) \\
& =\log 70
\end{aligned}
$$

(Remember $\Rightarrow$ Baselo)
3.

$$
\begin{aligned}
& 3 \log _{2} 7-2 \log _{2} 3 \quad 4 \cdot 3 \log _{6} 15+\frac{3}{2} \log _{6} 7 \\
= & \log _{2} 7^{3}-\log _{2} 3^{2}=\log _{6} 15^{3}+\log _{6}(7)^{2} \\
= & \log _{2} 343-\log _{2} 9=\log _{6}\left(15^{3} \cdot 7^{3 / 2}\right) \\
= & \log _{2} \frac{343}{9}
\end{aligned}
$$

$$
\text { 5. } \begin{aligned}
& \log _{5} 48-\log _{5} 12+\log _{5} 4 \\
= & \log _{5}\left(\frac{48}{12}\right)+\log _{5} 4 \\
= & \log _{5} 4+\log _{5} 4 \\
= & \log _{5}(4 \cdot 4) \\
= & \log _{5} 16
\end{aligned}
$$

$$
\begin{aligned}
& \text { 6. } \frac{1}{2} \log _{a} x-\frac{2}{3} \log _{a} y \\
& =\log _{a} x^{1 / 2}-\log _{a} y^{2 / 3} \\
& =\log _{a} \frac{x^{1 / 2}}{y^{2 / 3}}
\end{aligned}
$$

$$
\begin{aligned}
& \text { 7. } \\
& =\log x+2 \log y-\frac{1}{3} \log z-5 \log m \\
& =\log x+\log y^{2}-\log z^{1 / 3}-\log m^{5} \\
& =\log x \cdot y^{2}-\log z^{1 / 3}-\log m^{5} \\
& =\log \frac{x y^{2}}{z^{133} m^{5}}
\end{aligned}
$$

$$
\begin{aligned}
& \text { 8. } \log _{5} \frac{x y z}{m w} \\
& =\log _{5} x+\log _{5} y+\log _{5} z-\log _{5} m-\log _{5} w
\end{aligned}
$$

9. $\log x^{1 / 2} y^{3} z^{5}$

$$
=1 / 2 \log x+3 \log y+5 \log z
$$

10. $\log \frac{36^{\frac{1}{3}} \cdot 8^{\frac{1}{2}}}{13^{\frac{2}{3}}}$

$$
=1 / 3 \log 36+1 / 2 \log 8-2 / 5 \log 13
$$

11. $\log _{7} \frac{x^{\frac{1}{4}} y^{\frac{2}{7}}}{z^{\frac{4}{5}}}$

$$
=1 / 4 \log _{7}^{2} x+2 / 7 \log _{7} y-6 / 5 \log _{7} z
$$

12. $\log _{3} 9+\log _{4} 64+\log _{4}\left(\frac{1}{16}\right)+\log _{3}\left(\frac{1}{9}\right)+\log _{10}\left(\frac{1}{10}\right)$ Evaluate each term separately:

$$
\begin{array}{cccc}
\log _{3} 9=x & \log _{4} 64=x & \log _{4}\left(\frac{1}{16}\right)=x & \log _{3}\left(\frac{1}{9}\right)=x \log _{10}\left(\frac{1}{10}\right) x \\
3^{x}=9 & 4^{x}=64 & 4^{x}=\frac{1}{16} & 3^{x}=\frac{1}{9} 10^{x}=\frac{1}{10} \\
3^{x}=3^{2} & 4^{x}=4^{3} & 4^{x}=\frac{1}{4^{2}} & 3^{x}=\frac{1}{3^{2}} 10^{x}=10^{-1} \\
x=2 & x=3 & 4^{x}=4^{-2} & 3^{x}=3^{-2} \\
& x=-2 & x=-2
\end{array}
$$

Therefore we have:

$$
\begin{aligned}
& 2+3+(-2)+(-2)+(-1) \\
= & 2+3-2-2-1 \\
= & 0
\end{aligned}
$$

13. 

$$
\log _{2} 32-\log _{2}\left(\frac{1}{32}\right)+\log _{4} 8-\log _{8} 16
$$

Evaluate each term:

$$
\begin{array}{llll}
\log _{2} 32=x & \log _{2}\left(\frac{1}{32}\right)=x & \log _{4} 8=x & \log _{8} 16=x \\
2^{x}=32 & 2^{x}=\frac{1}{32} & 4^{x}=8 & 8 x=16 \\
2^{x}=2^{5} & 2^{x}=\frac{1}{2^{5}} & \left(2^{2}\right)^{x}=\left(2^{3}\right) & \left(2^{3}\right)^{x}=\left(2^{4}\right) \\
x=5 & 2^{2 x}=2^{3} & 2^{3 x}=2^{4} \\
& 2^{x}=2^{-5} & 2 x=3 & \frac{3 x}{3}=\frac{4}{3} \\
x=-5 & x=3 / 2 & x=4 / 3
\end{array}
$$

Therefore we have:

$$
\begin{aligned}
& 5-(-5)+3 / 2-4 / 3 \\
= & 5+5+\frac{3}{2}-\frac{4}{3} \\
= & \frac{10}{1}+\frac{3}{2}-\frac{4}{3} \\
= & \frac{60}{6}+\frac{9}{6}-\frac{8}{6} \\
= & \frac{69}{6}-\frac{8}{6} \\
= & \frac{61}{6}
\end{aligned}
$$

$$
14.3 \log _{2} 4+2 \log _{3} 9+\log (0.1)-\log _{3}\left(\frac{1}{9}\right)
$$

Evaluate each term:

$$
\begin{array}{rlrll}
3 \log _{2} 4=x & 2 \log _{3} 9=x & \log (0.1)=x & \log _{3}\left(\frac{1}{9}\right)=x \\
\log _{2} 4^{3}=x & \log _{3} 9^{2}=x & 10^{x}=0.1 & 3^{x}=\frac{1}{9} \\
\log _{2} 64=x & \log _{3} 81=x & 10^{x}=10^{-1} & x=-1 & 3^{x}=\frac{1}{3^{2}} \\
2^{x}=64 & 3^{x}=81 & & 3^{x}=3^{-2} \\
2^{x}=2^{6} & 3^{x}=3^{4} & x=4 & x=-2 . \\
x=6 & x=4 & x &
\end{array}
$$

Therefore we have:

$$
\begin{aligned}
& 6+4+(-1)-(-2) \\
= & 6+4-1+2 \\
= & 11
\end{aligned}
$$

